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Show all necessary working.
Neatness may be taken into consideration in the awarding of marks.
If you make a mistake, transfer the question on to the last page (blank) of this exam.
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1. Evaluate —————— to 2 decimal places. 2)

0

2. The distance from Sun to the Earth is 149 494 000 km . Write this in scientific notation

correct to 3 significant figures. T2

3. A car is sold for $24300, which is a profit of 8% on its cost price. Find its cost price to the
nearest dollar. 2

4. Ifx = /a , find the value of 6a in terms of x. (D

S. How many times must the number k be added to the number p to give a total of 4p + 3k?
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6. Fully factorise these
i 4m* -19m +12 )
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7. Simplify fully DO
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Solve, these for x = -
. 2
5x=18-2x

10. Solve! 3X\1#\2 + 2z \ (leaving your answer in simplest exact form)
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11.  Fully simplify these :
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12. Solve these equations simultaneously :
i. 3x=11+y and 8x+3y=18 (3) | i y=x"- 4x and 3x-y-12=0  (3)
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2. The distance from Sun to the Farth is 149 494 000 km . Write this in scientific notation
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3. A car is sold for $24300, which is a profit of 8% on its cost price. Find its cost price to the

nearest dollar. )
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5. How many times must the number k be added to the number p to give a total of 4p + 3k?
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9. Solve these for x ;
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Solve 3x=2+ 2 (leaving your-answer in simplest exact form)
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Solve these equations simultaneously :
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